[image: image17.png](b) Break sales revenue and cost budgets down into accounting periods.
Prepare the budget for April using the information in the notes below.

Notes
. Each unitis made from 3 Kg of material costing £2.30 per Kg

+Ittakes 12 minutes to make each item. 2,400 hours of basic time is
‘available in the month. Any exira hours must be worked in overime
The basic rate is £16 per hour. Overtime is paid at 26% above basic rate.

+ Variable overhead relates to labour hours, including overtime. Fixed
production overhead costs are incurred evenly through the year.

Units sold 140,000 12,800)
Units produced 150,000 12,500|
April
Sales revenue 2,660,000 243,200
Material used 1035000| 86250
Direct labour 484800 40,400|
Variable production overhead | 217.500| 18,125
Fixed production overhead 94800 7,900)





CBT Sample assessment model answers

Budgeting (BDGT)

Sample assessment 2
Task 1 (14 marks)
[image: image2.png](a) Match each type of data with its appropriate source.
Click on a box in the left column then on one in the right column to indicate each answer.
To remove a line, click on it.

Appropriate Source.

Financial Times

Type of data

Contact details for our

| Customer relationship
customers management system (CRM)

Competitors' productiity ‘Trade Association

Wages index for the country Intemet website / browser

in which we operate

Statistics published by
Government (e.g. Offce for
National Statistics in UK)





Task 1, continued

[image: image3.png](b) As budget accountant, match each task with the person or group that you will need to contact.
Click on a box in the left column then on one in the right column to indicate each answer.
To remove a line, click on it.

Contact

‘Trade union representative
Task

Forecast possible wage

demands for next year Production manager
Explain a labour efficiency Human resources manager
variance

Production manager and

Dratt the direct labour cost | "] hUman resources manager

budget

Budget committee





Task 1, continued

[image: image4.png](c) Drag each item below and drop it into its appropriate budget.

Capital expenditure Marketing & distribution

[Warenouse extension [Delivery cost of on-line sales

(Computer system upgrade [Printing price lists

Cash Flow Cost of Production

[Receipts from customers [Raw material wastage
[Factory rent

Administration

[Telepnone maintenance charges






Task 1, continued

[image: image5.png](d) Select the appropriate accounting treatment for each of the following costs.

Cost

‘Customer survey (proposed new product)
Upgrading production machinery

Raw material wastage

Import duty on raw materials

Hire of production machinery

Stores depariment

Production labour - pension contribution

Preparing plans forfactory extension

Accounting treatment

[ote o mareeing ovemeass

[Captaes and sepresiate verusemive

et

et

[Eraree o producion 2 machine hour ovemeadrae

[Actiity based charge to products

[Erarge o producion 2 abourhour vemead ate

[Captaes and sepresiate verusemive





Task 1, continued
[image: image6.png]() Select the appropriate term to match each of these descriptions.
Description

Acostinatis fixed per unit of output

‘Senior management prepare a master budget and elegate the responsivily for
producing departmental budgets

Collecting data about every tem in the population

Afinancial measure of the difference between budget and actual performance

o

[Variabe cost v

[Top down budgeting v

[Census

II




Task 2 (19 marks)
[image: image7.png](a) Complete the following production forecast for product F.
Do not show decimals. Round any decimal figures to the nearest whole number of units.

Closing inventory should be 15% of the following weeK's sales volume.
10% of al production fails quality control checks and is rejected.

Production (units)

Sales volume 12200 12400 12000 11500 11200
Opening inventory 1750  1ee0|  s00| 725
Glosing inventory 1ee0| s 72s|  tse0
Saleable production 12310 qz30|  1ises|  114ss
Rejected production wes| | 1| rerg
Total manufacturedunits | 13678| 13711 q3zs0| 12728





Task 2, continued

[image: image8.png](b) Calculate material purchases.

Do not show decimals. Round to the nearest whole number, if n

* 4,000 items of product N are to be manufactured in April.
+ Each requires 18 litres of raw material.

+10% of raw material is wasted during manufacture.

+ The opening inventory will be 7,600 ltres.

« The closing inventory will be 6,800 ltres.

(i) How many ltres will be used in production?

80,000

ltres

(i) How many litres must be purchased?

79,200

ltres




Task 2, continued

[image: image9.png](c) Calculate overtime hours.
Do not show decimals. Round to the nearest whole number, if

* 3280 items of product M are to be manufactured in May.
+ Each one takes 45 minutes to produce.
12 staffwill each work 180 basic hours.

"How many overtime hours must be worked to complete the production?

300] hours

(d) Calculate the quantity to sub-contract.
Do not show decimals. Round to the nearest whole number, if

+ 6,000 items of product S are to be manufactured in July
+ Each one takes 20 minutes to produce.

+ 1,700 proguction hours are available.

« Any additional requirement must be sub-conracted.

How many units should be sub-contracted?

"900] units





Task 3 (18 marks)
[image: image10.png](a) Complete these three working schedules.

Materials
Each unit produced requires 4kg of material
Closing inventory will be valued at the budgeted
purchase price.

Labour
Each itemtakes 30 minutes to produce.

42 staffwork 175 basic hours each in the period.
Overtime s paid at 50% above the basic hourly rate.

Overhead
Variable overhead is recovered on total labour
hours.

erials Kg
Opening inventory 3.400 4930
Purchases 70,000 105.000)
Sub-total 73.400) 109.830)
Used n production 69500 104230)
Glasing iventory 3300 5700)
Hours
Basictime @ £16 per hour 7350 117500
Overime 1350 32400
Total 700 150000
Variable @ £4.90 per hour 8700 42630
Fied 16340
Total 56970






Task 3, continued

[image: image11.png](b) Now complete the operating budget.

Enter income, costs and inventories as positive
figures.

Closing finished goods inventory wil be valued
atthe budgsted production cost per unit.

Operating budget £perunit
‘Sales revenue 18000 24.00) 432000)
Cost of goods sold: B
‘Opening inventory offinished goods

Cost of production B

Materials 104230

Labour 150000

Overhead 58970 313200)
Closing inventory of finished goods 27000)
Cost of goods sold 315200)
Gross proft/ loss) 116800
Overheads B

Administration 38,300

Marketing 21,000 59300)

Operating profi/ (loss)

57500)





Task 4 (17 marks)
[image: image12.png](a) Calculate a sales revenue forecast for year 5.

Do not show decimals. Round to the nearest whole pound.
@) Use the sales price index to calculate sales revenue for years 1o 4 atyear 1 prices.
(i) Projectthe sales revenue atyear 1 prices forwardto year 5.

(i) Calculate the year 5 sales revenue forecast.

Sales revenue (£) 122000 12747|  13527| 14091 1ago1

Sales price index 1100) 1140) 1200) 1240) 130.0|

Sales revenue atyear 1 prices (£) 12200 12300 12400 12500
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Task 4, continued

[image: image13.png](c) Prepare the cash flow forecast from the operating budget and balance
‘sheet assumptions.

Balance Sheet Assumptions
+ Receivables wil reduce by £500.

« Materials payables will increase by £2,000.

* Labour costs are paid in the period in which they are incurred.
« Other payables willreduce by £300.

Enter recsipts and payments as positive figures.

Operating
Sales revenue 88,000
Expenditure

Waterals 34,800

Labour 25.700)

Oner costs 14900 75400
Operating Proft 12600

Sales receipls 88,500
Payments

Waterals 324800

Labour 25700

Oner costs 5700|7420
Gashlow 14300

Enter a cash outflow as a negative figure &g -500




Task 5 (20 marks)

To:
Budget committee




Date:
xx/xx/xxxx

From:
Budget accountant




Subject: Draft sales budget

Budget submission

I attach the draft sales budget for your consideration and approval.

It is based on the sales manager's sales forecast and pricing proposal.  This year's results are shown for comparison.

The Fruityoats cereal has sold well over the years but is now in the decline stage of its life-cycle and its volume is forecast to drop by 12%. To extend the product's life, in the face of competition, the sales manager proposes to reduce the price by £0.20 (8%).  

The Oatbran Surprise cereal is steadily growing in popularity and is well into its growth stage. It commands a price premium which we propose to increase by £0.20 (7%).  Despite this price increase it is forecast that sales will grow to 450,000 units (50%). However, we still need to maximise market awareness and a marketing campaign is planned to achieve this growth.

The revenue forecast is £1,725,000 for the Fruityoats cereal (down 19%), £1,395,000 for the Oatbran Surprise cereal (up 60%) and £3,120,000 in total (up 4.2%).

Risk analysis

The sales manager's strategy is to reduce the selling price of the Fruityoats cereal to help maintain sales. The combination of reduced unit contribution and declining volume will bring forward the date when the product is no longer viable.  

With the two price changes the price differential between the two products will increase and may adversely affect the sales of Oatbran Surprise.  It is seen as a successor at a premium price and we should be encouraging customers to trade up.

Also, by increasing the price of the Oatbran Surprise this may deter customers buying the product and thus not hit the target sales figures resulting in less profit.  We also need to bear in mind that the extra anticipated sales are intended to cover the special marketing campaign. 

Performance indicators

We need to monitor both products for volume, price, market share and profitability. I recommend the following indicators are used:

· Weekly sales volume as a percentage increase or decrease on last year

· Average unit selling price versus budget

· Market share %

· Contribution per unit (variable costs to include promotion)

Budget Accountant

Task 6 (18 marks)
[image: image14.png]“This task s about budget revision.

First Draft

You have submitted a draft operating budgetto the budget committee.
‘The committes has asked you to budgetfor an altemative scenario and

calculate the increase or decrease in expected profit. ‘Sales price per unit (£) 50.00 48.00
et scenatio Sales volume 30000) 32250
Reduce the selling price by 4%. £ £
Increase the sales volume by 7.5%.
Revise the energy price rise to 2.5%. Sales revenue 1,500,000 1548000
Assumpions inthe first scenario Costs
Material and labour costs are variable
Depreciation is a stepped cost, increasing at every 8,000 units. Material 588,000 632100
There is an allowance for an energy price rise of 5% Tavour S| se1is0)
(a) Complete the alternative scenario column in the operating budget table Energy 113.400 10700)
and calculate the increase or decrease in profit. Depreciaton 39200 900
Apart from the sales price per unit, 4o not enter decimals. Tota 1252600 1352980
Round to the nearest whole number,if necessary.
Gross proft 237,400 195050)
Increase / (decrease) in gross profit -42350|





Task 6, continued
[image: image15.png](b) Variance analysis.

Prepare the raw material cost statement from the activity data provided.

Activity data

Budget

94,500

Actual results

33,500

99,000)

‘Standard raw material cost of production 97500)

Variances £ favi(ady)
Material price 1500
Material usage 3000
material cost -1500





Task 7 (16 marks)
[image: image16.png]Monthly Operating Report

‘Sales volume (units) 410,000
B B B B
2,393,200 Sales revenue 2542000 2516300 (25700)|
Costs.
733,400 Materials 779000 799,000 (20000)|
791,300] Labour 840500 838,900 1600
173,700 Distribution 184500 182,600) 1900
224,720| Energy 237200 238,000 (800)|
80,000 Equipment hire 84000 74,000 10000
39,700 Depreciation 39700 38,600 1100
81,500 Marketing 81500 86,700 (5200)|
28 400| Administration 28400 26,100 2300)
2152720 Total 2274800 2283900 (9100)|
240,430| Operating profit/ (Loss) 267200 232,400 (34800)|





Task 8 (18 marks)
Answer
To 
Chief Executive



Date

(xx/xx/xxxx)

From
Budget Accountant


Subject

Review of Operating Statement
(1) Reasons for variances

I have reviewed the results for the period. There was an operating profit of £25,000 compared with the flexed budget profit of £41,000. The original budget anticipated a profit of £72,000 based on sales of 750,000 units.

The favourable sales revenue variance over the flexed budget of £31k (6.4%) was due to an unbudgeted price increase. A consequent reduction in sales volume was expected. It is worth noting that if costs had been kept to budget at this volume (the flexed budget shows £445,000 of variable and fixed costs) the profit would have been £72,000, exactly as originally budgeted.

However, expenditure exceeded the flexed budget. The plant engineer decided to purchase production equipment rather than hire. This gave a 100% saving in hire charges. The adverse variance on depreciation was £122k. At the originally budgeted production level the net variance would have been negligible. With a reduced volume it would have been possible to reduce the amount of equipment hired but the depreciation charge is fixed.

The variances on equipment hire and depreciation could have been avoided if the plant engineer had been aware of the expected volume reduction. Possibly he would have purchased less equipment. Possibly he would have decided against any purchase and continued hiring.

(2) Budgetary control system failure

One of the uses of budgetary control is to create a mechanism for authorising management decisions and we seem to have been overlooked this. Significant departures from the approved budget, such as the price reduction and the purchase of production equipment, need to be carefully considered, communicated and authorised.

Neither the marketing manager nor the plant engineer informed their colleagues about their plans. You, as chief executive did not authorise them. Whilst both decisions seemed reasonable in isolation the combined effect (reducing volume at the same time as replacing variable cost with fixed) hit profits.

This outcome would have been apparent if the budget had been revised to incorporate the new strategies. Furthermore it is disconcerting that the deterioration was not identified through regular management meetings.

Task 8, continued

(3) Standard Cost

Standard costing is an excellent system for controlling variable costs but not so useful for fixed overheads such as depreciation.

It is not surprising that the standard cost did not change when the plant engineer decided to purchase equipment if he was not aware that volume would reduce. At the original budget volume, £120,000 of equipment hire would have been replaced a similar amount of depreciation. The unit cost would be the same.

In time the reduced volume would generate an under recovery of overheads but, as the budget had not been revised, it would not be easy to see what was going wrong.

Budget Accountant
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